u ER254EE RIIBI=NRyYR—ILEDS RE
1)IRA
E B 25 ET B 250 L RE] 1 A S
ﬁuﬁl#%"*ﬁ_é 701,761 701,761 0
— L B5BE 700,000] 749,000] 49,000[1F—L ¥7000x 107 F—L
L.% nE 150,000] 150,800 800[1508 A
xesmi |[EEXESNE 300,000{ 312,000 12,000[EZEXL-VEDLYFESMIF—LIZITIRE
EZEXEGEM) 48,000] 48,000 0|E=Z=BEKEL2HHE16F—L x ¥3000
EX& 381,000 396,000] 15,000{100F—L.. 2H BESiINE ¥ 3000
ERKE 96,000 96,000 0[6,000 X 16F—L1s
BHEE=SME 5,000/ 28,000 23,000{1H ¥500x56.A
FRLBIER 0 0 0[1F—1.¥ 1000
MINA |LE BEX= 40,000 55,000[ 15,000
ERXE 20,000 30,000f 10,000
Z0M  [(ShdBLHvTEEH 40,000] 40,000 O|FBHIFALIFH+HBHE1HFH
LESEIIREE 28,880 28,880 0| REF2AKEE
SEXSEHREE 79,340 79,340 (IESHPN
L1—Z TV he 0 16,500  16,500[T Y
2/ JLyk 100,000 128,200]  28,200]1 ¥ 200
LEHEEEETR O|HARZIEM b
107009k O[BH=MD5
FIE 0 28 28
= i 2,689,981] 2,859,509] 169,528
2) % H
B I H 255 & P 265 AR | 18- AJK ES
ENXTybR—IILRSEE 30,000 30,000 0
TEBI=ZN\RTYrR—LEGIEE 100,000] 100,000 0
EX-9=) 55@%%“ 3,000 4510/ A 1510
&5 25,000] 26,700] A 1,700[iBELRE. BRI EH. LEMIBFRIHS
INEt XaeE |dEH-2EHEES| 117,648] 182,888| A 65,240| 25, E&2[E (138:80) . B2 (1[ELEEH)
217,743 B1E & 5,000 3,645 1,355
BRI [EEXES 300,000] 284,215] 15,785|& ;R th
B K& 400,000 443471 A 43471[ch Efth
ERKES 130,000] 126,415 3,585 wﬁfm
K& B 40,000 40,000 0[N E X - BEE Hh X
I Ly ke 30,000] 20,000 10,000 ﬁaﬁ iR
914,101|=:% 50,000 o] 50,000
FHE (EE= |F1L0EXE 9,000 5,060 3,940
EIZM&W ¥ 6,000 0 6,000
EE#IOVIES 0 0 o[t EHRE 2HIEFSM
FTEBXSRKE (EF) 140,040  190,040] A 50,000 F & Tl 1A, 2;ALF=F=8
cEXSKE (ER) 163,680] 163,680 0|3/H4HERE -MZEZ x 24
EEFNS 40,000 46,000/ A 6,000/2EHE+1HB (Bi#%2+4&ELI-5) ¥ 1000
= SnHdWNAvT 24,000 24,000 0 RBEDA. BZE£E6TOYY
E RN EX& 90,000 84,000 6,000(2-3EE+1HHE (EfS+&#ELI-A) ¥ 1000
ERXE 28,000 28,000 0[1:X& ¥ 1000—F AU RER
TEHEIERE 17,114 17,114 RS
INE hREHESE (ER) 39,600 39,600 0|finZE
648,986 | SEERTIRE 10,000 51,492| A 41492|H26 FEE (L ZEEEREREL
TRE [OFEDYXE 170,000] 145,967| 24,033|BfAGH AT ViR
INEt BEHEEER 250,000] 84,626] 165,374|T> T/ —
230,593| =& 10,000 o 10,000
FEE |[AhdbhvT 30,000 41557| A 11557| B = SR
41,557| F 1 431,899 o] 431,899
5 =t 2,689,981[ 2,182,980] 507,001
3)EkE
2859509 — 2,182,980 = 676,529




